


Al 422 x 3% x 52, 22 x 33 x 5, 23 x 34 x 5% o] HfFoF?

@ 23 x 33 x 52 @ 22x32x52 ® 22x33x53
@ 23x32x5 @22><32><5

22)(32)(52, 22><33><5, 23 % 34 % 53 01]}\_1
3ok 22x 32 x5 (47 FL &)




o= 5 Al 5= 96, 120, 150 <]

3.

@ 22 ® 32

D 2x5

@2x3

® 2x3x5

1,2 3 2x3°|th




A
=7

ZAS= 22 x 32 x 5, 2% 33 x 7 &) FoF49] 7

=
T

4.

@ 5 @67H @7  ® s

D 47

Iy

=)

o

MTﬂo

of X
[a\l

el A




Aldoax7?,22x7x11, 5x112 9 A Fu5E?

® 2x5x7x11 @ 22x3x7x112
@ 22x5x7?x11x%x13 @22x5x72x112

® 22x52x73x112

Al 2] FaFHlaE 2% x5 x 72 x 112 o,




Q%9 HAFHETF 16 D 1), T AALY FejSE vp

=

=
HeE AL

® 1,2,4,8,16 @ 4,16,64,---
® 16,32,48 @ 4,8,16,32,---

@)16,32,48,64, -




7.

Al 4= 12, 24, 36 ©] FHISG F 900 ©]5ke] A= BT H Q1A

CEEES

> = A

> ®HEl 127

12, 24, 36 9 FHi= F|&FHS 72 o] HijGo] 22 900 o] 5t
A 900 + 72 = 12---36 |2 12 Fo]Th.




67 A 24 A5 3T N2 49 AASE BT T
7l 249 ApaAse 2ok,

[
H -

>
|> HMerb: g

oH =

B

6 I =42l AP+ 1,5,7,11 -
33 24 AFA5E 1,2,4,5,7,8,10,11 -
747+ A4 5 FAH 33 A2 411 AFA49t Zo}

A,




9.

e B7] § &2 2e 25 Setet

O AR o F ae ARACH.
© F &7t AZLold & F shte 250l
© FAF7F1 Al F AdpE AriolH.

@ 15 olste] 2t FollAl 7 I} 24 ApE b

7 olet.

> g
» &
> e 9
> Hg: @

© ¥ : 8 7} 25 = AR AR & t} &47} op ),
©12 2= F Ags9 ool




o|J

o}
olig
Nfo

ojn

)

ol

® 5 47 Hzzel

B

o]},

5t

@ F7H 1 3 A7) =

®2xEF
@1

o
~—




11. A 348,72, 22 x3 x5 9 Hojaorss?

® 2x3? @2* x3 ® 22 x 3
@ 22 x 32 ® 2x32

48 =24x3, 72 = 23x32, 22 x3x5 0|82 HYFFrE= 23x3




12. A 4= 250, 360, 960 ©] X thFF4=?

© 22 @2x5 ® 22x5?

@ 2x3x5 ® 22x3x5

250 = 2 x 53, 360 = 23 x 32 x 5,
960 = 25 x 3 x5 o|BE =
H-gsE2x%x5




13. o % HejBors
AN
@® 12,18
® 14, 20

® 2%x3,22x32,

it

@ 24, 32
@22x3x52,2x32x5

2%x32x7

B

D6
OF
® 2
@ 30
®6
ojBng 7}




14.

(1) 22 % 3,2 % 32 x 52,22 x5 x 7 2] F|o-5F
(L) 2x5x7,2%x3x52, 22 x52 o] ZtF

O 2x3,22x5 @ 2,2x3

@® 2x3x5,2x5 @)2,2x5

® 2x3,2x7




15. F 428 x3tx 7, 29x3"x 7 9] HU-FFp7F 22 x 32 x 72 Y o,
a+b+c 2 FH2?

@ 2 @ 4 @)s O ® 10

B ‘
HhFor7t 22 x 32 x 72 0] 2L

23 x 31 x 7¢ | A 2 9] 2|57} 3 o] B2

2¢ % 3" x 74 | A 2 &] X7} 2 o] ofof Fhr},
g2ros

28 x 34 x7¢ oA 3 9 A 5Tt 40|BR

24 % 3b x 74 of| A 3 2] 2]|Z=7} 2 o]o]of Sit}
T3,

20 %3 x 74 o\ 79 ATt 4 0B

23 x 34 x 7¢ oA 7 2] Z|Z=7} 2 o]o]oF B}
wetA g =2, b=2, c =2 o[t}




16. Tha Al 4 29x 3% x 7% x 150, 25 x 37 x 52 x 73, 24 % 59 x 74 x 54 <]
A ZFE7E 23 x3%x 70 D W), (a+b+c) xd 9] GH2?

@ 3 @5 3 8 @ 9 ® 12

S8 \
| FT7F 22 x3x 70 =24 x3x5x 7 oA
ol Zt 5§ A3t grol
2% % 3% x 72 x 150 = 2 x 24 x 36 x 52 x 72
25 %30 x52x 73
24 x 5 x 74 x 54 = 25 x 33 x 5¢ x 7¢ o]t}

FoIX A 59] 2 9] A4-E HWSIH BF 4 Hrp FB=2
2% 29 x 36 x 52 x 72 o] 4] 2 O] 4= 4 o]ojof3lTt.
27} 3t H o JoA Joerg 4= 3 o]ojof gt
FolXl Al 4=9] 3 9] 2|4 H| W 5HH

HE ] Hth 382 p =1 o]ojof gt}

FoIX Al 4=9] 5 o] ]4=E H| W 5HH

DT Ht 382 ¢ =1 o]ojof gt}

FolXl Al 4=9] 7 &] 2|4 H| W 5HH

HE ] Ht 388 4 & 10]ojof gt}

et g =3, b=1,c=1, d=1°E2
(a+b+c)xd=3+1+1)x1=50|th




17. =A% 4, B O AhBR7 42 A o, ke 5 4 91 B o] BT}
obd 729

® 3 @ 6 e @2  ©Q)s

Fotrt HUiFerse] oF4elE] G 28 = 42 o] eF7} ofoh,




18. A 445 45, 4, 90 9 AT 15 A0, A 5 Q=R F
Vg 3 Ape] Aasg Fokofe,

A= 15 S PR AN QOB £ 22 29l 15 o S
Uds] 2 o33 2ot

15, 30, 45, 60, 75, 90

o] &, 45, 90 7] HiFeFrt 15 71 2 5 = A
15, 30, 60, 75 o]t}

o] & 7t & o+ 75 o[t




ot

<]

22 x
3 x 52
, 2x32
P x7 0] BB
=5 5BF
=

= A
T

19.

._.__._..u
<0

A

._.___..u
<0

..._“_..u
P

..._“_..u
P

=
e

)3
o 5457t 2 %
S s 3=6°]E=%
2 73’6 -




23 % 32x 52, 2x32x7, 180 o] FoF47t ofd A-29

® 3 @2 ® 6
@9 ® 2x3?

23%32x 52, 2x32x7, 180 = 22x32x5 O] | F ok 2 x 32
FsE FHUFors ofolng

FoAL Al =9 FFFE 1, 2, 3, 2x3, 32, 2x 3% o[H}.




= 24 p, q o A
Fsteler.

21.

>
>

Bop7h 102 A W, p. g © BHe] g

792 = 23 x 32 x 11
L B+ x 2+ 1)x (1+1) =24 ()




£AFESIE o8-kl Al & 24,32,36 ©f HAFHiE F5HA?

@ 4 @ 48 ® 96 @288

® 360

2)24 2)32 2)36
2)12 2) 16 2)18
2) 6 2) 8 3) 9
3 2) 4 3
2
0.24=2"x3  ..82=2"  ..86=2"x§’

wrebA] F]AF e 25 x 32 = 288 0Tt




23, T A4 29%x3 7 23 x30 x5 9 HATHSIF 24 x32 x5 A O,
a+b 9 g2?

@ 3 @ 4 ® 5 @»6 ® 7

HA2FZ 571 24 x 32 x 50|22 g =4, b =2 o|th
La+b=4+2=6




24. F 5 39x5x11%, 32 x 7P x11¢ o] HaF g o1 34 x5x 7P x 117
ot a+b—-c O go= F2 A2Y

@ 1 @ 2 ® 3 @4 ® 5

B \

Je=3tolBR 5=4,
TP="30BE2 p=3,

11¢ =113 ]2 & ¢ = 3 o]t}
wetA] g+ b — ¢ = 4 o|t},




25.

02 5 % A4 22x3x5, 2x3% x5 o FHlE7 2 & gl A2

@2><3><5 @ 22x33x5 ® 22x33x52

@ 23 x3%x5 ® 23 x 33 x 53

FHagua: 22 x 38 x5
Tl Zaguao] wijo] B2 22 x 33 x 5 o] wij=r} ot




26. Al % 16,24, 36 | B4 5 700 o] 7 A7ME 8 Fsteler,

>
> =g

i

720

Al 9] HagalaE 24 x 32 = 144 ©| B2, 144 9] Bl F 700
ol 7F8 7172 o= 720 ot




27. % 4 A 9B o HAFHSE 12 0%, 12 9 C o HAFHSE 24
otk Al 4 A, B, C O Bl5E AL AL BE D2 AT 2

)

@ 12 @24 ® 36 @)48 ® 60

A 9B 9 HaFujSt 12 03, F 49 HAFu4S 12 7
C o HAguW47} 24 o] BR, Al 5 A, B, C HAFuSE 24
otk WebA A, B, C, D o] BHl4 24 9] wj4o]e.




28. A A9 16, 24, 48 o] FHlE F Al A2 AdeE BF EH Y

Tstof et
> E: 7

> ®HE 18 A

B

16, 24, 48 O] FHp+= 48 9] Hijg=o|r}.

999 72 2] 48 O] W= 999 £ 48 = 20---39 ©] 22 20 7} 1L
99 7}A] €] 48 ©] Hj4E= 99 = 48 = 2...3 o] & 2 7| QUrh
webA 48 O] 4= F Al ] AAA4= 20 -2 =18 (H) UTh




